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$'5 ĝ(ξ) = ξ−
1

3
<95 ξ ∈ (0, 1)C g = 0 ,-*1<95 (0, 1)!

E! F98 F*)(*.##/+*-041#1 ∆u = 0 0 5#/-*12#(1 x ∈ (0, π), y ∈ (0, 2π) ;#$

5*1$+0((/45#1 u(x, 0) = sin x, u(x, 2π) = 0C u(0, y) = sin(2y), u(π, y) = 0!

G! 3@(  !"#$#A ?0--*C ;!%!*! 34,50#5-5*18<45;*-041C #1 :#25'18*$ (981012

-0(( H*,.%=)54:(#;#-

utt = uxx + 2ux + u; t > 0, x ∈ R; u(x, 0) = f(x); f ∈ L1, f̂ ∈ L1;

3@( : ;<$0A 7#8-';;!%!*! /41<45;* *+:0($1012*5 (981012#1 -0(( F*)(*.##/6

+*-041#1 ∆u = 0 0 %*(+)(*1#- y > 0 ;#$ 5*1$+0((/45#1 u(x, 0) = 1, 1 <

x < 2, u(x, 0) = −1, 2 < x < 5, x = 0, x > 5, uy = 0, x < 1!  !"#
 !"#$%&!'(!" %)!$* +",-.,"#(* */,, (** 0-"!*.,"# '(1 2(3'"## !"#1-/,,0&!(*

.4 y5"6(,# &7+ "#-8#1 $9''(*!/ %)! "** :,/ "- '(1 2(3'"## !"#1-/,,0&!(*;

I! 3@(  !"#$#A J*$ '5 #-- K-,5;6F04,+0((# )54:(#;L J0(/* K6F )54:(#;

/*((*8 <95 5#2,(&'5*C 8012,('5*L M# #N#;)#(! 7#5'--* 8O ;=./#- $, /*1 4;

#2#18/*)#5 *+ #2#1<,1/-041#5 4.% #2#1+'5$#1!

3@( : ;<$0A 7#5'--* 8O ;=./#- $, /*1 4; -0((';)1012*5 *+ *1*(=-08/*

<,1/-041#5 4.% /41<45;* *+:0($1012*5 0 %=$54$=1*;0/!

P! 7#5'--* 8O ;=./#- $, /*1 4; F#2#1$5#)4(=14;#5C $#5*8 #2#18/*)#5 4.%

-0((';)1012*5! Q#- :(05 :'--5# 4; 1O25* :#+08 D118!

J*5&# ,))20<- /*1 2# ;*N! P )! K/50+1012#1 :#5'/1*8 <'5$025'--*8 ;O1$*2#1C

$#1 >R! &*1! F9810128<958(*2 ),:(0.#5*8 >>!&*1 )O /,58#18 S#::80$* *+ O5#-

TEUTG!

M!V4W#1:(04,;

LM
















